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Percentage of World Health Organization Member Countries With Legislative Requirements 
to Consider the Results of HTAs (total and by region)2

Top 4 Barriers in Conducting HTAs for Decision Making: A Survey of 111 World Health Organization 
Member Nations2
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Percentages may not add to 100% due to rounding.
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Footnotes: 1) “N” represents the number of countries surveyed overall and by region. 
2) Responses were given by an individual from the national HTA board appointed by Ministry of Health of the country.
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Qualified Human Resources                      Budget Availability                           Information Availability                      Knowledge of Methods

N = 93                 N = 15               N = 12                N = 8                   N = 37                N = 8                  N = 13


